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Note : Section ‘A’ containing 10 very short answer type
questions, is compulsory. Section ‘B’ consists of
short answer type questions and Section ‘C’
consists of long answer type questions. Section ‘A’
has to be solved first.

gug ‘I’
Section ‘A’
frelfend 3ifaeryg ST Jo1 & I T a1 G al
45l
Answers the following very short answer type
questions in one or two sentences. 1x10=10

1. fod =1 B2

What is Finance ?

P.T.O.

10.
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fafmm = 872

What is investment ?

Yot vrsg st gRenfoa wifsm )

Define term capital.

NPV 9 IRR &l Ui &9 foel |

Write full form of NPV and IRR.
wfaenfa a9 9 s AR § 72

What is meaning of retained Earnings ?
EPS TS MPS &1 q0i &9 fafem |
Write full form of EPS and MPS.

ISt e & o ARE 9

What is meaning of capital structure ?
ot @M & R AW T2

Whate is meaning of cost of capital ?
gl 1 i W W R I §?
What is meaning of average stock of materials.

3iod agelt sfafy ¥ F1 awE %72

What is meaning of average collection period ?
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Section ‘B’
freTifera &g SWIF g9 & W 150-200 ¥ 7
430
Answer the following short answer type questions

with word limit 150-200. 5x5=25

. ot gem 1 3R9F oy afenteRo § gseT |
“The objectives of Financial management is profit
maximization” Explain
3T
Or

relepen forita faism o B 2 Seretur fed dwemsy |

What is Long term financial Planning ? Explain with

examples.
. USit @ &t 99 qod dfd &l gmemEu
Explain present value method of capital expenditures.

3Adr
Or

St S=ifeT i safier g <X Ofd o1 §memEu|

Explain Internal rate of return method of capital

budgeting.
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3. oife’s 1 & ? Hawd | faxia offe’ks w1 R Hecd

€7
What is leverage ? What is the importance of financial
Leverage in a business ?
AT
Or

qaar 37w ygE fasivand saE |

State main characteristics of equity shares.

. 9Odl W AYR Y R NI g7 Uk Ieydl

ERIELY
What do you mean by trading on equity ? Discuss its
objectives.
AT
Or

e Hifa ;g7 fer v Hifa w foriad
ERIELY

What is dividend policy ? State essentials of a fixed
dividend policy.

. ‘e it T WerY' Rl AR N g2 Ol

Frfefier gt @t 9@ A SqRu |
What is meaning of management of working capitals ?

Discuss main contains of seasonal working capital.
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3gar

Or
‘Y w1 Yoy’ oh Y@ I3l Sl Faiy |
Discuss Main objectives of ‘Management of cash.

Tue ‘g’
Section ‘C’

f=ifeea St IaRig g9 & 30X 300-350 I GHHT
Ta

Answer the following long answer type questions

with word limit 300-350. 8x5=40
. 3fa deiietor wa 31eq St o1 1 SN 2
eGS0l o HRUT Sy |

What do you mean by over-capitalisation and under
capitalisation ? Discuss the causes of under-
capitalisation.
3T
Or

foxita feem fv@ wed €2 foxia fdism =t

EYTHdT TH Hed i fad=q Hifay |

What is Financial Planning ? Describe the needs and

importance of Financial Planning.

. =1 etionei @ aiftier Aok A<die Te FERAT ey
A hifST |
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(i) &MU sl AN 3 15,00,000
(ii) W9 T St 10 9
(iii) &MU T &S HA T 1,00,000
(iv) 9 T8 T ok gd dIfvich 3T % 2,00,000
(v) & ol S 40%

Find out annual cash inflow and Pay-back period from

the following data.

(i) Cost of Plant % 15,00,000
(i1) Life of Plant 10 years
(ii1) Salvage value of Plant % 1,00,000
(iv) Annual earning before tax and

depreciation < 2,00,000
(v) tax rate : 40%

AT
Or

=1 o1 wmEEE—

Explain the following :
() faf@Em R srgmEtsa g fafy
Unadjested return on investment method)
(i) -5 e fafy—
Pay-back period method.
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3. @ fa. gd9m o T 1,00,000 S T W &1 394

% 100 311 10,000 qUF Fehal TR 3791 FRifHa forg
T 1 37 SR 1 SR Jed % 160 § 1 FHAT 3791 Sl
! AT A IS

X Ltd is earning currently X 1,00,000. It has issued
10,000 shares of X 100 each fully paid. The market
price of these shares is X 160. Find out the cost of
equity share capital.

3T
Or

WY faffde & fau = IHeft & 3TYR W
faia foas 9 shifee—

(i) TFa1 379 dsit— T 30,00,000
(i) 0 St o Fuar gSft 1 A 2:1
(iii) =TSl =X 8%
(iv) SIS T & Q qd A4 25,00,000

Calculate financial leverage from the following

information for Surabhi limited :

(1) Equity share capital % 30,00,000
(i1) Debenture/Equity Ratio 2:1
(ii1) Interest rate 8%

(iv) Income before interest and Tax 3 25,00,000
. ARifead o fier &1 gst e fagm & gq@
HrIad Sdsy |
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Discuss main assumptions of Modiglliani and Miller

capital structure theory.
AT

Or
AeT ifd skl geifad e ot ROl ki foa=m
HifST |

Discuss main causes to affecting to dividend policy.

. IR USRI U A ok YHE Hidi I Sy |

Discuss main sources to receive of working capital.
AT

Or

ad # 360 o7 od gu f faewor @ e @ue
Ay i TUMAT IS |

Calculate the average collection period from the
following detail by adopting 360 days in a year.

(1) Ed Th (Average Inventory) % 3,60,000

(ii) =TGR (Debtors) % 2,30,000
(iii) Tk 3ATEd A
(Inventory Turnover Ratio) 6

(iv) "Hehed ©H 3AJUId (Gross profit Ratio)  10%
(v) 3R faepl =1 gfaema
(Percentage of credit sales) 20%

00000dO0OO0O000
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